Electric Drives Linear Motion and Rexroth
and Controls Hydraulics Assembly Technologies Pneumatics Service
Bosch Group

FmBF - EEFEEY, £3 CM2

Tk




N

Bosch Rexroth AG | Pneumatics

FRER - EEFEEE, 75 OM2
FEsk

o

HAEFIRMNM RS NERN DO ERAMER, FEERIE N E
SHER-BEF, ELPDF, $IETF 2011-10-18, © Bosch Rexroth AG, 4R E B4



Bosch Rexroth AG | Pneumatics 3
FEmBER - EEFEES, R CM2
E13%LAP6
CE
ER
TN
- ; _ <
00105172 \T/
JCN
TA ! <
= == .
‘ LF T
<L 00126602
= fREs KK AA AV CE| OCN|EN-0,1 ER EU LF sW|  zZ[]
min. H7 max. max.

1822124000 M4 12 8 27 5 8 9 7,5 9 9 4
1822124001 M6 13 9 30 6 9 10 7,5 10 11 4
1822124002 M8 16 12 36 8 12 12 9,5 12 14 4
1822124003 M10x1,25 19 15 43 10 14 14 11,5 14 17 4
1822124004 M12x1,25 22 18 50 12 16 16 12,5 16 19 4
1822124005 M16x1,5 27 24 64 16 21 21 15,5 21 22 4
1822124006 M20x1,5 34 30 77 20 25 25 18,5 25 30 4
1822124013 M27x2 50 45 110 30 37 35 27 35 41 4
1822124008 M36x2 60 56 125 35 43 40 32 40 50 4
1822124009 M42x2 69 60 142 40 49 455 37 45 55 4
8958208842 M48x2 75 65 160 50 60 58 45 60 65 6
8958208852 M12 22 22 50 12 16 16 12 16 19 13
3660904000 M12x1,25 22 16 50 12 12 17 8 16 19 8
3660905000 M16x1,5 29 24 67 16 16 23 11 20 24 8
3660908000 M20x1,5 34 30 77 20 20 26,5 13 23 30 8
3660912000 M24x2 42 36 94 25 25 32 17 27 36 8
8958209002 M4 11 8 27 5 8 9 6 9 9 6,5
8958209012 M6 13 9 30 6 9 10 6,75 10 11 6,5
8958209022 M8 16 12 36 8 12 12 9 12 14 6,5
8958209032 M10x1,25 19 15 43 10 14 14 10,5 14 17 6,5
8958209042 M12x1,25 22 18 50 12 16 16 12 16 19 6,5
8958209052 M16x1,5 27 24 64 16 21 21 15 21 22 7,5
8958209062 M20x1,5 34 30 77 20 25 25 18 25 30 7,5
8958208002 M24x2 42 36 94 25 31 30 23 30 36 15
8958209072 M27x2 50 45 110 30 37 35 25 35 41 7,5
2990690903 M10x1,25 19 20 43 10 14 14 10,5 14 17 7
2990690904 M12x1,25 22 22 50 12 16 16 12 16 19 7
2990690905 M16x1,5 27 28 64 16 21 21 15 21 22 8
2990690908 M20x1,5 34 33 77 20 25 25 18 25 32 8

MAEEIRLR RSN BRSO CERAER, ERERIENEYE
SHEH-BR, ELPDF, $IEF 2011-10-18, © Bosch Rexroth AG, %88 & B4AFH




4 Bosch Rexroth AG | Pneumatics

FRER - EEFEEY, R CM2

[Bl4EsL AP6
=R ¥ =RE BEE b=
[kgl
1822124000 § Dtz 0,02
1822124001 W P 0,03
1822124002 W P 0,05
1822124003 W P 0,07
1822124004 i JEEE 0,12
1822124005 W PEEE 0,21
1822124006 N e 0,38
1822124013 N P 1,17 -
1822124008 B S 2 -
1822124009 W S 3,4
8958208842 W ESE 52
8958208852 W HEEE 0,11 -
3660904000 W B 0,119 1)
3660905000 W s 0,282 1)
3660908000 W P 0,435 1)
3660912000 W s 0,791 1)
8958209002 EEN - 0,022 -
8958209012 AEEWN 0,035
8958209022 AEWN 0,057
8958209032 N 0,09
8958209042 AN 0,12
8958209052 N 0,23
8958209062 W - 0,41
8958208002 M P 0,729
8958209072 AW - 1,24
2990690903 W, mMERM 0,1
2990690904 TN, MR 0,12
2990690905 TN, MR 0,23
2990690908 TEW, MERM 0,42
1) AR

HEFIRRR MRS S MEE R PO S ERERMER, FEERE LMY E
SEHER-BF, ELPDF, #IETF 2011-10-18, © Bosch Rexroth AG, {REEMALF




Your contact:

EEEHNTR(PE)FRAT
iR

FE LigHiERAE 1S P EMRA
KEAE

#R4R: 200120

B1i%: (86-21) 3866 6000

t£H: (86-21) 3866 6111

Hit N R(PE)ERAE
EHNHEL
EBALKDBRIAE195
REMEAT I KRE#
BLi%: (852) 2262 5100
t£H: (852) 2786 0733

EEEHNTRPE)FRAT
ERARL
PEAREFREAALXKER
#®e6s

BR%R: 100176

B1iE: (86-10) 6782 7000

f£H.: (86-10) 6782 7020

EEEHNTRPE)FRAT
KERTRL

FEKET T RN XH K9S
BRTE FRKE2005%E

BR%R: 116011

BLi%: (86-411) 8368 2602
t£H: (86-411) 8368 2702

FEEHHTR(PE)FHRAE
I

AR T FF & X RS Y T
HR4%: 510663

H1i%: (86-20) 3229 9551

f£H: (86-20) 3229 9528

#itt hER(PE)FRAT
BB FR A

rh & B ER T I K 1453085
ST 1521#%B-CE

B4 610017

B1i%: (86-28) 8652 7550
f£H: (86-28) 8652 7123

it L R(EM)FRAF)
PEIIAEMNTRER A RTRE
165

HR4%: 213161

F1i%: (86-519) 8175 000

f£H: (86-519) 8175 088

Bt DT RALR)REFRAT
FEILREFHEAALXKER
%65

#R4%: 100176

F1i%: (86-10) 6782 7000

f£H: (86-10) 6782 7020

Rexroth
Bosch Group

Bosch Rexroth AG

Pneumatics

Ulmer StraRe 4

D - 30880 Laatzen

Phone +49 511 2136-0

Fax +49 511 2136-2 69
sales-pneumatics@boschrexroth.de
www.boschrexroth.com/pneumatics

LisE#hTREERBHLE
FRAF]

FE LETINEHARRERR
—pg122%

HR4R: 200131

B1i%: (86-21) 5866 3030

f£H: (86-21) 5866 5523

Lisgith+RBEERBHEH
PRAS]

AT

HE EigmEFfHOnTX SR
555

HR4%: 201206

Bi%: (86-21) 3866 6333

fEH: (86-21) 3866 6222

further contacts:
www.boschrexroth.com/addresses

The data specified above only
serve to describe the product. No
statements concerning a certain
condition or suitability for a certain
application can be derived from
our information. The information
given does not release the user
from the obligation of own judg-
ment and verification. It must be
remembered that our products
are subject to a natural process of
wear and aging.

© This document, as well as

the data, specifications and other
informations set forth in it, are the
exclusive property of Bosch Rex-
roth AG. Without their consent it
may not be reproduced or given
to third parties.

Subject to modifications.

Online-PDF
18-10-2011



	&#22238;&#36716;&#22836;AP6

